FICTION

A<=>00000
B<=>00001
C«=>00010
D<=>00011
E<=>00100
F<=>00101
G<=>00110
H<=>00111
I<=>01000
J<=>01001
K<=>01010
L<=>01011
M<=>01100

N<=>01101
O<«<=>01110
P<=>01111
Q<«<=>10000
R<=>10001
S<=>10010
T<=>10011
U<=>10100
V<=>10101
W«=>10110
X<=>10111
Y<=>11000
Z<=>11001

ASCII?

A<>FTFFFFFT
B«<>FTFFFFTF
C<>FTFFFFTT
D<>FTFFFTFF
E<>FTFFFTFT
Fe>FTFFFTTF
Ge>FTFFFTTT
H<>FTFFTFFF
I<>FTFFTFFT
J<>FTFFTFTF
Kes>FTFFTFTT
L<>FTFFTTFF
M<>FTFFTTFT

N<>FTFFTTTF
O«<>FTFFTTTT
P<>FTFTFFFF
Qe=>FTFTFFFT
R<>FTFTFFTF
S<>FTFTFFTT
T<>FTFTFTFF
U>FTFTFTFT
V> FTFTFTTF
W FTFTFTTT
X<=>FTFTTFFF
Ye>FTFTTFFT
Z<<FTFTTFTF

FACT = ASCII =
American Standard Code for Information Interchange

A<=>01000001
B<=>01000010
C<=>01000011
D<=>01000100
E<=>01000101
F«<=>01000110
G<=>01000111
H<=>01001000
I«<=>01001001
J<=>01001010
K<=>01001011
L<=>01001100
M<«<=>01001101

N<=>01001110
0=>01001111
P<«<=>01010000
Qi<=>010100 0-1
R<>014010010
S<>01010011
T<=>01010100
U<=>01010101
V501010110
We<e=> 01010111
X<=>00Vr011000
Y <=0 101001
2 <=>"0 Qo010

ASCII???
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MORSE CODE

ZSIr|xX|lc|—|ZT|I®|MM|O(O|T|>

N[<|X¥[S|<|c|H|w|m|O|T|O|=Z

MORSE CODE

ZSIr|xX|lc|—|ZT|I®@|MM|O[O|T|>

N[<|X¥[S|<|c|H|w|m|O|T|O|=Z

MORSE CODE

ZIr|xX|lc|—|ZT|I®O|MM|O(O|T|>

N[<|X¥[S|<|c|H|w|m|O|T|O|=Z

AMBIGUITIES WITH VARIABLE LENGTH CODES

Ac<=>1
B<=>2
C<=>3
D<= 4
E<=>5
F<=> 6
G<<=>7
H<=> 8
I<=>9
J<=>10
K<=>11
L<=>12
M<=>13

N<=>14
O<=>15
P<=>16
Q<=>17
R«<=>18
S<=>19
T<=>20
U<=> 21
V<=>22
W <= 23
X<=>24
NE<=>2"5
Z<=>26

What is
12514197




AMBIGUITIES WITH VARIABLE LENGTH CODES

Ac<=>1
B<=>2
C<=>3
D<= 4
E<=>5
F<=> 6
G<<=>7
H<=> 8
I<«=>9
J<=>10
K<=>11
L<=>12
M<=>13

N<=>14
O<=>15
P<=>16
Q<=>17
R«<=>18
S<=>19
T<=>20
U<=> 21
V<=>22
W <= 23
X<=>24
NE<=>2"5
Z<=>26

What is
12514197

12 514 19 or
1251 4197

ENCODING USING DECIMAL DIGITS

A<=>10
Be=>11
C <=>112
D<=>13
E<=>14
F <=>1T5
G=>16
H<=>17
I<«<=>18
J<=>19
K<<=>20
L<=>21
M<=> 2 2

N<=>23
O<=> 24
P<=>25
Q<=>26
Rié<=> 2.7
S<=>28
T<=>29
U<=>30
V=31
W <= 32
X<=>33
Y<=>34
Z<=>35

How many
symbols can
be encoded
using pairs
of digit?

ASCII Codes

01000001

01100001

00100000

01000010

01100010

00100001

01000011

01100011

00100010

01000100

01100100

00100011

01000101

01100101

00100100

01000110

01100110

00100101

01000111

01100111

00100110

01001000

01101000

00101000

01001001

01101001

00101001

01001010

01101010

00101010

01001011

01101011

00101100

01001100

01101100

00101101

01001101

01101101

00101110

01001110

01101110

00110000

01001111

01101111

00110001

01010000

01110000

00110010

01010001

01110001

00110011

01010010

01110010

00110100

01010011

01110011

00110101

01010100

01110100

00110110

01010101

01110101

00110111

01010110

01110110

0
1
2
3
4
5
6
7%
8

00111000

01010111

01110111

00111001

01011000

01111000

9
tab

00001001

01011001

01111001

line feed

00001010

N|<|x|S|<|c|d|n|mlo|o|o|z|Z|- x|« |=|T|O|n|m|o|0|@ >

01011010

NI |X[s|<|le|lr|u|lal@emlo]|z |3 |—=|[x|—|—|Tkk |[+|o|a|o |o|o

01111010

Carr. retn.

00001101

ENCODING ONE ALPHABET USING ANOTHER

A<=>aa
Bc=>ae
C<=>ali

D<=>ao
E<=>au
F<=>ah
G<=>ak
H<=al

I<=>am
J<=>an
K<=>ap
L<=>aw
M<=>a'

N<=>ea
O<=>ee
P<=>eli
Q<=>eo0
R<=>eu
S<>eh
T<=>ek
U<=>el
V<=>em
W <=>en
X<=>ep
Y<=>ew
Z<=>e'

How many
symbols can
be encoded
using pairs
of Hawaiian
letters?




Structure in the ASCII Code

01000001

01100001

blank

00100000

01000010

01100010

00100001

01000011

01100011

00100010

01000100

01100100

00100011

01000101

01100101

00100100

01000110

01100110

00100101

01000111

01100111

00100110

01001000

01101000

00101000

01001001

01101001

00101001

01001010

01101010

00101010

01001011

01101011

00101100

01001100

01101100

00101101

01001101

01101101

00101110

01001110

01101110

0011

01001111

01101111

0011

01010000

01110000

0011

01010001

01110001

0011

01010010

01110010

0011

01010011

01110011

0011

01010100

01110100

0011

01010101

01110101

0011

01010110

01110110

0011

01110111

W N[O(n A WIN |- O |-

0011

01010111
0101 )

01111000

,_,
Y
o

00001001

010110

01111001

line feed

00001010

N|<|x|S|l<|c|d|n|mlo|o|o|lz|Z|r x|« |=|T|O|n|m|o|0|@ >

01011010

NI |X[s|<|le|lru|l=sl@amlo|z |3 |—=|[x|—|—|Tkk |[+|o|a|o |o|o

01111010

Carr. retn.

00001101

Extra Slides

ENCODING USING DECIMAL DIGITS

A<=>10
Be=>11
C<> 12
D<«=>13
E<=>14
F <=>1115
G<=>16
H<=>17
I<=>18
J<<=>19
K<=>20
L 2l
M<=> 2 2

NRE
(RS
P <=
Q <=>
R <=>
Ste=>
T <=>
(VRE
V <=>

28
e
2
26
ey
2.8
&9
30
3ul

W«=>3 2

X <=>
Y <=>
AR ES

38
34
35

What is
1124327




